Biochemistry Lec.2

The enzyme triophosphate isomerase rapidly inter- converts the
molecules dihydroxyacetone phosphate (DHAP) and glyceraldehyde
3-phosphate (GAP). Glyceraldehyde phosphate is removed / used in
next step of Glycolysis.
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Step 6: Glyceraldehyde-3-phosphate Dehydrogenase
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Glyceraldehyde-3-phosphate dehydrogenase (GAPDH)

dehydrogenates and adds an inorganic phosphate to glyceraldehyde 3-
phosphate, producing 1,3-bisphosphoglycerate.
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Step 7: Phosphoglycerate Kinase
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Phosphoglycerate kinase transfers a phosphate group from 1,3-
bisphosphoglycerate to ADP to form ATP and 3-phosphoglycerate.
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Step 8: Phosphoglycerate Mutase
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The enzyme phosphoglycero mutase relocates the P from 3-
phosphoglycerate from the 3rd carbon to the 2nd carbon to form 2-
phosphoglycerate.
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Step 9: Enolase

Z2-Phosphoglycerate Phosphosnolpyruvate
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The enzyme enolase removes a molecule of water from 2-
phosphoglycerate to form phosphoenolpyruvic acid (PEP).
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Step 10: Pyruvate Kinase

Phosphosnolpyruvate Pyruvate
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The enzyme pyruvate kinase transfers a P from phosphoenolpyruvate
(PEP) to ADP to form pyruvic acid and ATP Result in step 10.
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Steps 1 and 3 =-2ATP
Steps 7and 10 =+ 4 ATP
Net “visible” ATP produced = 2.

Krebs (Citric Acid)

It is also known as TriCarboxylic Acid (TCA) cycle. In prokaryotic
cells, the citric acid cycle occurs in the cytoplasm; in eukaryotic cells,
the citric acid cycle takes place in the matrix of the mitochondria.
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